]

?5\‘

= 1A 1 2 HM
) HIKE 6 H
H B | W = % 4 = s N w B i IR ]
Bl =
S E F1%
6.16 H K= | RS
i S ey 1 K§3047
P22 B
w =
6. 17 k EERPAB DI DRSS
6. 18 7K 1
6.19 AN I
6. 20 o o (—RERIRY) BT
6.21 + i
0. 22 H /i
IR | F1%
6.23 A NI
AT B %95 — & 1 HRF30%7
T1&
6. 24 k NI - HT B %95 — % B [
1 EF304y
Egbﬁg ZRb9 5 — %
H e )
NI THEEB SR E
uﬁ%'ﬁ‘nf L-F‘?(ﬁ
6. 25 7K w =
------------------------------------------------------ 1 K304y
T R R BB & B
THEFEB S IERE B &1
* B = HRER
T HORE A F1%
6. 26 A mREA
* B = 1IR30
T H K B mREA
x B =K =
B F1k
6. 27 & RESFEERE (PRENEEER)
EW(IF = S b= 1 K305
NI ﬁ%ﬁﬁ%
Erﬁ/\tlﬂﬁLf A EAEH L (BEERE)




